PARAR 2529l = B i BC B pn
BEWAEFRRELIIE ., BHERIIE . B ERS SSREY =L
WEL 1[E, BRERE@MBAANDT 120n°, Fra il EH R 35
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F5 T H 4 #F A B L #HE
1 LR & 100%80%90cm Tfr 35
2 2T T A 35
3 A E R 3T & 2
4 HF K BE: 0. 1mg(E ) & 35
5 BF R BE: 0.0lg (%5 EEH) &4 35
6 T AE T & 1
7 I T AR (0~100°C) % 35
8 pH it 0.01 (pHS—3C) 4 35
9 pH & & #k E-201-C (#rEC #4%) % 35
10 BETH 35%50cm A 35
11 AR 500m1 A 35
12 KA S & 35
13 HRE R [ A A 35
14 BeAr 20m1 J=! 35
15 BeAr 50m] (& &) J=i 105
16 B 50ml (@) J= 35
17 BeAr 100m1 = 70
18 BEHR 500m1 J=! 105
19 B 1000m1 =i 105
20 BEHR 2000m1 J=! 105
21 HIEEN 1000m1 )= 35
22 BB 1000m1 = 35
23 72 500m1 )= 70
24 B 250m1 = 140




25 B 100m1 o 70
26 i 500m1 J=| 70
27 B2 & aE A 35
28 =R 5%5 cm f, 35
29 W 20cm * 105
30 e AR 5000m1 o 35
31 REE 10m1 * 70
32 REE 5ml bd 70
33 TEE 2ml * 35
34 F& Sk 5ml A 70
35 SRR 1000m1 J=| 35
36 SRERER I 500m1 = 70
37 % B R AR 500m1 = 35
38 bl i 35
39 R A 5-10 cm i 105
40 &4 T % 35
41 sy i 7k 35
42 wWeE Ea = 35
43 TE & S| = 35
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e T B 4 #F A AL HE
1 Lk & 100%80%90cm Tfr 35
2 27 ] 7K 39
3 IR E 3T & 2
4 Tk A8 180L & 1
5 iR w48 250L & 2
6 EW R W E (40-1000 %) & 39
7 BE 30%50cm A 35
8 BH 50 F % & 35
9 =¥ A 100 Fr 2 & 35
10 P4t B A SR EMN i 70
12 IR 52 M VK & 35
15 = il 60mm E 140
16 BT 125mm F 3k B & i 35




18 Ak 5 AR T & 35
=, HHRFEZNEREHAH
75 T B 4 #r A B fr HE
1 Lh & 100%80%90cm TAr 35
2 2T T A 35
3 iR E 3T i 2
4 HF K-F BE: 0.0lg (3% HEH) 4 35
5 et & ( 35
6 £f 100ml A 39
7 £ 1000m1 A 39
8 KA 500m1 A 70
9 BEAT 1000m1 R 70
10 HL 5] W 5 15L & 35
11 R i 10L A 35
12 BE I H 35%50cm A 35
13 AR5 5-10 cm i 105
14 4 T * 35
15 A 4R T 7k 35
16 LFE B % 35
17 tEE T =) 35
W, EEFEIE
P T H 4 #F A B fr HE
1 L6 100%80%90cm TAr 35
2 2T Sl - 35
3 LR E 31T &4 2
4 FReNE B EH 1000mL " 35
5 BETH 35%50cm A 35
6 8] B EF ] 7 )= 70
7 mENE &2)%0;?1 \cmz’. if \&J\S%UOfnbm 1%4'5%% ® &TOR
8 £ T £ 35
9 il H 4 9em ® 39
10 P2 4% T 7k 35
11 WG, AREk 75% ik 35




12 LE% ) % 35
F. R E SRk A AR
55 T H 4 #r A AL &
1 = 1.5 T & 1
2 15 AR Sl 4 6
3 24 e Sl & 2
4 KB 180L & 1
N K E SRR A AR
55 T H 4 #F A AL ¥E
1 = 1.5 % & 1
2 18 AR A il 6
3 25 AR i i & 2
4 Vi&:] 180L & 1
BNV REFRUHEAL T TR (B A%
75 R = Hlw i By (o)
1 B K JRE: 0. Ilmg ([H %) 70 800 5600
2 B KT 0.01g(ZFHHEW) 35 2500 122500
3 EVEMEE | WH (40-1000 £%) 35 2800 98000
4 1E R 5 7258 250L 2 3000 6000
5 B 5% 55 2% 15L 35 150 5250
6 237350




